dirna @2 Bergstrom

Dbl

D ) -— .- e—w =
green line

INTEGRAL

POWER

Instrucciones de Montaje E Spanish
Mounting Instructions m English
Instructions de Montage m French
Montageanweisungen E German
ARNOR | [ AENOR
1001867298

<| Z9Q
E] =
M
2
&) g%
e
z
3| mg
2|z
8| &
8| s
5

4 AR .




E INTEGRAL POWER

Recomendaciones
Para el montaje

* Antes de iniciar el montaje leer las instrucciones y
seguirlas durante el proceso de instalacion.

» Usar las herramientas adecuadas para cada operacion.

Electricidad

» Desconectar la llave de contacto.
» Desconectar la bateria antes de empezar el montaje.

* Asegurar el conexionado de los componentes
eléctricos, verificando su correcto encaje.

/\ Atencién

Si durante el montaje el equipo se inclina o se abate
la cabina con el equipo montado, se debera esperar
un minimo de 60 minutos, desde que el quipo quede
horizontal, antes de ponerlo en marcha.

A Atencion

Al instalar el equipo de aire acondicionado en el techo
se debe proteger la parte superior de la cabina con un
pafio 6 manta protectora para evitar posibles arafiazos.
Al instalar Integral Power en el techo hay que tener
en cuenta que, normalmente, las cabinas que vienen
provistas de escotilla, tienen una estructura suficiente
para soportar el peso del equipo. Sin embargo, cuando
no ocurra asi y sea necesario realizar corte en el techo
6 incluso si en el caso de llevar escotilla el material no
es lo suficientemente resistente (caso de techo de fibra,
plastico, etc...) es el instalador el que debe decidir, bajo
su responsabilidad, sobre la necesidad de reforzar
el techo para evitar posibles deformaciones, roturas,
entradas de agua, etc... habilitando los medios para que
esto no ocurra.

En las cabinas de fibra se debe tener especial
cuidado y unicamente apoyarse en los nervios de la

misma para evitar hundimientos en la parte de fibra.

dirna @3 Bergstrom

Herramientas

Documentacion relacionada

Instrucciones de montaje 1001867298
Manua|de|usuano .......................................... 1 001869501 ......... ,
D|agnos|sdeave ”as ...................................... 1 001869522 ......... ,
|_|stadode recambms ..................................... 1 001867300 ......... ,

Documentacion incluida

Guia rapida 1001069437
Garantia 220AA10017
Simbologia
A Fragil
Atencién corte!
A Riesgo eléctrico
& Advertencias

A El personal instalador debe poseer una formacion
suficiente en Aire Acondicionado de vehiculos.

A dirna Bergstrom queda exenta de responsabilidad
si se producen averias que procedan de una
inadecuada manipulacion o instalacion del equipo,
o por modificaciones y sustituciones efectuadas sin
nuestra expresa autorizaciéon por escrito.

A Equipo precargado con gas refrigerante. (No
manipular el circuito de gas refrigerante).

Véase procedimiento de garantia del producto
incluido en Diagnosis de Averias.

A Véase Manual de Usuario del equipo para el
correcto funcionamiento del mando a distancia y del
panel de control.

A Al finalizar la instalacion se debe entregar al usuario:
Manual del Usuario, Garantia y Diagnosis de

averias.

A Atencion: peso del equipo 52 Kgs.




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

1 Desmontar tapa escotilla, los elementos de
fijacion y entregar éstos al cliente (*).

2 Quitar los residuos sobrantes adheridas al
techo antes de pegar la junta EPDM.




E INTEGRAL POWER dirna ‘@ Bergstmm

3 Pegue la junta EPDM alrededor del hueco
de escotilla (mirar el detalle para cortar los
bordes finales de unién de la junta).

i"f COMO CORTAR LA JUNTA EPDM PARA @ &mm
EVITAR FILTRACION DE AGUA EN LA ,', E
CABINA

A- Pegar la junta, manteniendo 100 mm de
papel protector por cada lado.

B- Quita los dos piezas de papel.

C- Pegue presionado ambos finales. A R

Junta

~

¢
100 mm Aprox. (papel protector)

Techo cabina

Junta \l / Junta
¥y ¥
Eliminar

Junta Junta
N vy ¥
N » | «




INTEGRAL POWER

4 EXTERIOR CABINA:

Posicionar el equipo Integral Power en el
hueco de la escaotilla.

dirna € Bergstrom 53

5 INTERIOR CABINA:

Roscar 5 mmaproximadamente (4) esparragos
8/125x100-70 o 120 en las roscas de los
refuerzos indicados (*), la medida se elegira
tras presentar los soportes de sujeccion y
teniendo en cuenta que los esparragos deben
sobresalir de los mismos por la parte inferior
unos 20 mm.

@ Base

Esparrago

6 Colocar (1) arandela @ 7 de goma, (1) arandela
plana @ 8 ala ancha, (2) tuerca M8 y (1) arandela

plana @ 8 ala ancha , en cada uno de los

esparragos anteriores; siguiendo dicho orden.

Arandela Arandela plana
goma @ 8 alaancha

Arandela plana

Tuerca M8 @ 8 ala ancha




E INTEGRAL POWER

7

Colocar (2) soportes sujecion, con (4) arandela
y (4) tuerca autoblocante M8, sin llegar a
apretar.

dirna @3 Bergstrom

Roscar 10 mm (4) esparragos M6 x 55 o
80, donde se indica, segun distancia (D) del
esquema del punto 11.

Colocar (1) arandela @6 de goma, (1) arandela
plana @6 ala ancha y (1) tuerca M6, sobre
cada uno de los esparragos de M6. Apretar
tuerca, a continuacion apretar tuerca hasta
que la arandela de goma quede un poco
oprimida.

Arandela
goma

Arandela
ala ancha




INTEGRAL POWER

10

Conectar cableados del equipo con los del
panel interior de distribucion de aire haciendo
coincidir cajas y colores.

dirna & Bergstrom B

11

Colocar panel interior de distribucion de aire en
los esparragos anteriores con (1) arandela M6
ala ancha y (1) tuerca M6 en cada esparrago.
Apretar tuercas hasta que los canalizadores
hagan tope en goma espuma superior.

Importante: Los canalizadores deben hacer
tope contra la goma espuma superior para
evitar fugas de aire.

@

e

Hexagonos M6

Panel interior
de distribucién

de aire

Base
-~
e T Gomaespuma
A b ___ ; -------- N F=———— - ==
Techo cabina Tuerca M6 | /

1

! Canalizadores
Tapizado Esparrago M6 \
| v i/l _V[_:
1

12

Presentar consola y centrar el equipo. Una
vez centrado quitar consola.




E INTEGRAL POWER

13

Fijar los soportes de sujeccion apretando las
tuercas hasta el apriete de la junta de EPDM

exterior (Punto 4) del equipo entre 3 y 6mm;
la junta debe quedar con un espesor entre 19
y 22 mm.

Importante: Para evitar posibles filtraciones de
agua al interior de la cabina se debe asegurar el
apriete de la junta EPDM con la base del equipo
tal y como se indica en el esquema.

~

[
c

=
o

m
T
g
<

L

Techo cabina

.................

Apretar las tuercas hasta
el apriete de la junta de
goma entre 3y 6 mm.

dirna @3 Bergstrom

Comprobar la
compresiondela M
junta EPDM usando
un flexémetro en las
cuatro esquinas.

(*) (aprox. después de apretar) j

14

Apretar (4) tuercas M8 al soporte y (4) a la
base del equipo.




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

15 Conectar sensor aire de retorno a la clema
situada en el hueco de entrada de aire.

16 Colocar tuerca M6 (A) tras la tuerca de A
fijacion del panel interior de distribucion de Base
aire en cada esparrago. Colocar hexagonos
M6 roscandolo hasta que quede 1 mm por ) Exégono sujecion
encima del tapizado. Desenroscar tuercas M6 v { J
s
(A) de este punto hasta que haga tope con los L Tapizado
hexagonos y apretar contra estos. /
1 mmi_—_h
Aprox.
J
(7 )
Base
ét;)nlzt)?\/l — Gomaespuma
0
ﬁ A
Techo cabina Tuerca M6
Tapizado Esparrago M6
| | +—Lf
1 mm. / Panel interior de
Exagonos M6 distribucion de aire
- J

17 Colocar la consola con (4) tornillos M6/100x15
allen.




E INTEGRAL POWER dirna .@ BBI’!]SII’[Im@

18 Atencion: La sonda de recirculacion debera
quedar como se indica para que capte la
temperatura del interior de la cabina.

18]

T

19 Cubrir los (4) tornillos M6/100x15 allen con los
embellecedores redondos de plastico.

10




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

TUBOS DE DESAGUE

1 Montar (4) valvulas en tubos de desague.

2 Sujetar con (4) abrazaderas y (4) tornillos
como se indica.

3 Comprobar que no interfieren con el techo de
la cabina, para evitar que se obstruyan.

11




E INTEGRAL POWER dirna ‘@ Bergstmm@

Instrucciones detalladas sobre la instalacion
del cableado de alimentacion

4 Conectar el cable de alimentacion superior en

la parte trasera del equipo y llevarlo por la parte
posterior de la cabina pegando los soportes de
plastico y fijandolo con bridas.

5 Conectar cable de alimentacion inferior en

bateria, llevandolo por el paso de cableados
original, sujeto con bridas, hacia la parte
posterior de la cabina, para conectar con el
cable de alimentacién superior.

12




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

Cableado de
alimentacioén
superior

ﬁ Importante: al conectar los cableados ,dejar la
distancia adecuada ,para evitar su rotura por los
movimientos de la cabina.

6 Importante: Debido al complejo sistema de

regulacion electrénica del equipo, la toma de
corriente debe realizarse directamente a la
bateria del vehiculo.

Importante: Para la puesta en marcha
consultar el Manual del Usuario.

CONgcTAR A *
BATERIA

ConecT 1O *
BATTERY

13




E INTEGRAL POWER dirna @ Bergstrom

7 Colocar adhesivos de peligro en unién de
cableado y en dispositivo de elevacion de
cabina.

Cableado de conexién a alternador o bajo llave de contacto para
funcionamiento del equipo con motor en marcha

ﬁ Atencion: El cableado se instalara en todos
los vehiculos para que el equipo funcione a
motor arrancado.

8 Colocar cableado de excitacién por el interior
o por el exterior del vehiculo segiin convenga
y montar frente con tornillos roscachapa
suministrados. Conectar interruptores como
se indica.

Interruptor
velocidades aire

por exterior

Interruptor A/A

por interior

14




INTEGRAL POWER dirna ‘@ Bﬂrgstmmﬁ E

9 Conectar el otro extremo del cableado
suministrado en posicion (+) solo con motor
arrancado o a través de (+) llave de contacto.

1 0 Conectar cable de alimentacion superior en la
parte trasera del equipo.

15




dirna @3 Bergstrom

E INTEGRAL POWER

Esquema eléctrico

v

-

] 091U0.}08]0
D ) (oY lile%}
) oulo}al 8
opeouelie Jojow ale wcﬂowc_umm
02 oaysod (+) .
X - +) N - N >
N~ N
e
&
5 s ) A ____ AZL = <mNVw_n_w:n_ g C g V'
- - AVZ -~ SL \ g 8~ 8 oJely-ue Josuag
\A 8 | g7 d < d g — v g m_m d
m-omw 7 " G ) !
n N~ NN N
919y W N
zZz|z
Q
_ W)
N N zy ﬁl'\_Mﬂ_ /ﬂf\ o
z |z N o
FHEAPS
0jejsosald N
v 3
- — W
N o
Y v JOpEsuUspuoD [op
< Jopejijuap
obnynuao )
Jopejdog
> RSEAE R
N
e |
VYW 3 - [z8 0og S|
919y
V0S elqisn4 qj
l_ g zv[* ) Josaidwoo A+vo|
~ zv Josaidwo -
m+v.l o MM\ y f4 — W_IQ A+v oINPON A.Tv g u o}
) |
(-)e 7v 7V zy
elioleg o o
(=) (+) v v
AZ| op odinbs us 0|0s o
opolp A Jopesuspuo) SOUOIXaUO0D
onus)

VS 8|aisn4

16




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

17




m INTEGRAL POWER

Assembly
Recommendations

dirna @3 Bergstrom

» Before starting assembly, please read instructions and

follow them during installation process.

. Use the adequate tools for each operation.

Related documentation

Electricity |
Mounting instructions 1001867298
» Disconnect ignition key. User’s guide 1001869501
* Disconnect battery before starting assembly. Troubleshooting 1001869522
* Make sure electric components are securely connected,  Partshst . 1001867300 .
hecking thei t fitting. q .
checking fheircorrect Titing Documentation included
Quick guide 1001069437
Warranty 220AA10017

A Warning Symbology

A Fragile
Beware of cuts!

A Electrical hazard

A Warnings

A The installing personnel must have a sufficient

If the unit slants during assembly, wait for at least
60 minutes with the unit in horizontal position before
starting it up.

A Warning

. , . o , training in vehicles air conditioning.
When installing air conditioning equipment on roof, the

upper cabin part must be protected with a cloth or a A dirna Bergstrom shall not be responsible for
When

installing Integral Power on roof, take into account that,

protective blanket to avoid possible scratches. breakdowns or damages coming from aninadequate

handling or installation of the equipment or from

normally, cabins equipped with a hatch have a strong modifications and substitutions carried out without

enough structure to hold equipment weight. However, if it our express and written authorisation.

is not the case and it is necessary to carry out a cut in the A Equipment pre-charged with refrigerating gas.

roof or, although it has a hatch, the material is not resistant (Do not handle refrigerating gas circuit).

enough (if roof is made of fibre, plastic, efc...), it is the A Please see product warranty procedure included

installer who will have to decide, under his responsibility, in Troubleshooting.

if it is necessary to reinforce the roof to avoid possible & Please see equipment User’s Guide for its correct

deformations, breaks, water entries, etc., habilitating the functioning of the remote control and control panel.

means required to stop it from oceurring. A Onceinstallationis finished, the following documents

With plastic roof cabins, take special care and
only rest on cabin nerves to avoid fibre part from
sinking.

18

must be handed over to the user: User’'s Guide,

Warranty and Troubleshooting.

A Attention! Weight of the unit 52 kg.




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ ﬂ

1 Take down the hatch cover and the
attachment elements, and hand them over to
the customer (*).

2 Remove any excess from the roof before
attaching the EPDM seal.




m INTEGRAL POWER dirna ‘@ Bergstmm

3 Attach the EPDM seal around the hatch gap
(see the details to cut the ends of the seal

joint).
ﬁ HOWTO CUT THE EPDM SEAL TO PREVENT @ ,@mm
WATER FROM DRIPPING IN THE CABIN g

A- Attach the seal, keeping 100 mm of
protection paper on each side.

B- Remove the two pieces of paper.

C- Attach by pressing both ends. -

Seal

~

—
100 mm approx. (protection paper)

Cabin roof

Seal \l / Seal
¥y ¥
Remove
Seal Seal
N vy ¥
N » | «

20




INTEGRAL POWER

4 CABIN EXTERIOR:

Position the Integral Power unit in the hatch
gap.

dirna & Bergstrom Y

5 CABIN INTERIOR:

Thread about 5 mm (4) studs 8 / 125x100-70
or 120 on the threads of the reinforcements
indicated (*), the measurement will be chosen
after aligning up the clamping brackets and
taking into account that the studs should
protrude through the bottom by about 20 mm.

@ Base

Stud

(T

(— Support piece |
T I

6 Position (1) @7 rubber washer, (1) &8 flat wide-

rimmed washer, (2) M8 nut and (1) 98 flat wide-
rimmed washer on each of these studs, in the
same order.

21

@8 Flat @8 Flat
Rubber  wide-rimmed wide-rimmed
washer washer M8 nut washer




m INTEGRAL POWER dirna ‘@ Bergstmm@

7 Position (2) fastening supports with (4) washer
and (4) M8 self-locking nut, without fully
tightening.

8 Thread 10 mm (4) M6 x 55 or 80 studs as
indicated, in accordance with the distance (D)
of the diagram in point 11.

9 Position (1) @6 rubber washer, (1) @6 flat

wide-rimmed washer and (1) M6 nut on each Rubber
of the M6 studs. Tighten the nut until the washer
rubber washer compresses slightly.

Wide-rimmed
washer

22




INTEGRAL POWER

10

Connect the equipment wiring with inner
air distribution panel making the boxes and
colours coincide.

dirna & Bergstrom Y

11

Place the inner air distribution panel on the
previous studs with (1) wide brimmed M6
washer and (1) M6 nut on each stud. Tighten
nuts until channelling duct meets with the
upper foam of the equipment.

Important: The foam channelling duct must
meet the upper foam of the equipment to
prevent air leaks.

@

M6 Hexagons

panel

Base
EPDM Z —
—_
A D .. A ’I :' -------- .
Cabin ceiling M6 Nut | / ! |
1 | .
! Rubber ductings 1 .
Upholstering M6 stud \ g : :
* 1
| ! auh R : Interior air 1
M / I , distribution |
! 1
! 1
! 1

12

Position the console and align the unit. Once
aligned, remove the console.

23




m INTEGRAL POWER dirna “@ Bergstmm

1 3 Secure the attachment supports by turning the

nuts to tighten the exterior EPDM seal (Point
4) of the unit between 3 mm and 6 mm; the
seal should have a thickness of between 19
and 22 mm.

Important: To prevent water infiltration into the

cabin ensure the tightness of the EPDM seal — pCr*éi‘s"l‘otnhgf o |

with the base of the equipment as is shown in the E ; EPDM seal using [
. a flexometer in the

dlagram- R four corners.

4 i i EPDM seal A

&

Cabin roof

.................

Turn the nuts until the

rubber seal is tight
between 3 and 6 mm. N
k (*) (approx. after tightening) j

14 Tighten (4) M8 nuts to the bracket and (4) to
the base of the equipment.

24




INTEGRAL POWER

15

Connect the return air sensor to the screw
terminals situated in the air inlet hole.

dirna & Bergstrom Y

16

Place nut M6 (A) after the fixing nut of the
inner air distribution panel on each stud. Place
M6 hexagons screwing until 1 mm above the
upholstery. Unscrew nuts M6 (A) from this
point until they meet the hex spacers and
tighten against them.

v L

7 A)

E g

Base

Front attachment hexagon

Upholstery

1mmi_—_h

25

approx.
Nl J
[ )
Base
—|
seal [
8]
ﬁ K
Cabin roof M6 nut
Upholstery M6 stud
| | L
1 mm. Interior air
distribution panel
M6 hexagons
- J
17 Position the console with (4) M6/100x15 Allen
SCrews.




m INTEGRAL POWER dirna .@ BBI’!]SII’[Im@

1 8 Caution: The recirculation sensor must be as
indicated to capture the temperature inside
the cabin.

18]

S

19 Cover the (4) M6 / 100x15 allen screws with
the round plastic trim.

26




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ m

WASTEWATER PIPES

1 Mount (4) valves in wastewater pipes.

2 Secure with (4) clamps and (4) screws as
indicated.

3 Check that they do not interfere with the roof of
the cabin, thus ensuring no obstruction.

27




m INTEGRAL POWER dirna ‘@ Bergstmm@

Detailed instructions on the installation
of power supply cables

4 Connect the upper power cable in the rear of the
unit and run to the rear of the cabin, attaching
the plastic brackets and securing with flanges.

5 Connect the lower power cable to the battery by

running it through the original cabling passage,
secured with flanges, to the rear of the cabin
and connect to the upper power cable.

28




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ m

Upper power

supply
cables

ﬁ Important: When connecting the cables, leave
suitable distance in order to prevent breakage
when the cabin moves.

6 Important: Due to the unit's complex electronic
system, the power connection must be made
directly to the vehicle’s battery.

Important: Check the User Manual before
starting up.

CONpcTAR A *
BATERIA

ConecT TO *
BATTERY

29




m INTEGRAL POWER dirna @ Bergstrom

Place danger stickers at the cable joint and on
7 N .
the cabin lifting device.

Connection to alternator cable for unit operation with
the engine running

ﬁ Caution: The cable will be installed in all
vehicles for the unit to work with the engine

started up.
8 Position excitation cable on the inside or
outside of the vehicle as appropriate, and

secure the front with the supplied self-tapping
screws. Connect switches as shown.

Air speed

on the outside

A/C switch

on the inside

30




INTEGRAL POWER

dirna & Bergstrom Y

9 Connect the other end of the supplied cable in
position (+) only with the engine started up or
through the (+) ignition key.

Connect the upper power cable in the rear of

10 .
the unit.

31




dirna @3 Bergstrom

m INTEGRAL POWER

ic wiring

Electr

L

) ) |04}U0D DJU0}OB|]
] Josuas
Buiuunu Joyow lle winjey
UM aaisod (+) r .
A (+) N~ N )
N~ N
(
&
5 s u A ____ AZY - <mmv osny g ,m g V'
N - AVZ —— V5L /.\ < ] g g 10SUSs 8zaaluy
8 | fc|” 3 4 g . 9 — v G v
D 3
m-omw 7 " G ) !
W N~ N NN v
Rejoy W W
zZz|z
Q
_ 0,
N UV zv ﬁl'\_Mﬂ_ o /ﬂf\ o
z |z N o
CHERES
yoyms ainssald N
v =Y
— W
—Cird :
Y ue}
v =
Jasuapuo)
Jamolq
jebnjuua)
> BSEIACIRE
N
g |
VYW 3 ~|/8 0og o
Aejoy
8sN4 v0g l_ d qj
- +v
g N<|oA ) J0saidwos ( Tz EAI
v
+) o (F=) Jossaidwo
I 4 _ , AT omeon +) g ’ X
(- e 7v ZV 7y ﬁ
elioleg o o
=) (+) v v
jun Ag| uo Ajuo 1 ]
apolp pue Joyioeden 2Jjusd
SUONOBUU0D

eg asn4

32




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ m

33




E INTEGRAL POWER

Recommendations
Pour Le Montage

» Avant de commencer le montage de I'appareil, priere de
lire les instructions et de les suivre attentivement.

« Utiliser les outils convenant a chaque opération.

Electricity

» Déconnecter la clé de contact.

e Déconnecter la batterie avant de commencer le

montage.

« Vérifier le cablage des composants électriques et leur
correcte installation.

A Attention

Si pendant le montage I’équipement est incliné,
il faudra attendre au moins 60 minutes avant de le
mettre en marche une fois qu’il aura été remis sur sa
position horizontale.

A Attention

Lors de l'installation de I'appareil d’air conditionné sur le
toit, il faudra protéger la partie supérieure de la cabine
avec un linge ou une couverture de protection afin
d’éviter les éventuelles égratignures.

Durant l'installation du Integral Power, tenir compte du
fait que normalement les cabines pourvues d’écoutille
posséde une structure suffisamment solide pour supporter
le poids de I"appareil. Cependant, si ce n’est pas le cas
et qu’il est nécessaire de découper le toit ou méme si
disposant d’écoutille, la structure n’est pas suffisamment
rigide (si elle était en fibre, plastique, etc.) il appartiendra
a linstallateur de décider s'il faut renforcer le toit pour
éviter toute déformation, rupture ou voie d’'eau, etc., et

prendre les mesures nécessaires a cet effet.

Prendre toutes les précautions requises pour les
cabines a toit haut en plastique et n’appuyer que sur
les nerfs de la cabine afin d’éviter I’affaissement de
la piéce en fibre.

34

dirna @3 Bergstrom

Outils

Documents rattachés

Instructions de montage 1001867298
..... Gu|dede|ut|||sateur1001869501
..... 30|ut|ondesprob|emes1001869522
|_|stederechanges .......................................... 1 001867300 ......... ,

Documents joints

Guide rapide 1001069437

Garantie 220AA10017

Symbologie

A Fragile
Attention aux coupures !

A Risque électrique

A Garantie

A L'installateur devra posséder la formation pertinente en
air conditionné sur véhicules.

A dirna Bergstrom ne sera pas responsable des
dommages ou des bris dérivés d’une installation ou
d’'une manipulation incorrecte ni des modifications
réalisées sans autorisation expresse par écrit.

A Appareil pré-chargé de gaz réfrigérant. (Ne pas
manipuler le circuit de gaz réfrigérant).

A Voir la procédure de garantie du produit au Diagnostic
de problémes.

AVoir le Guide de I’Usager de [l'appareil pour le
fonctionnement correcte de la télécommande et du
tableau de commande.

A Aprés linstallation, vous devez fournir a I'utilisateur:
Manuel d'utilisation, garantie et diagnostic de pannes.

A Attention ! Le poids de I'’équipement est de 52 Kg.




INTEGRAL POWER dirna &3 Bergstrom

1 Démonter le couvercle de [I'écoutille, les
éléments de fixation et les remettre au client

(*)-

2 Retirer les résidus adhérés au plafond avant
de coller le joint EPDM.




E INTEGRAL POWER dirna ‘@ Bergstmm

3 Coller le joint EPDM autour du creux de
I'écoutille (observer le détail pour couper les
bords finaux d’union du joint).

i"i COMMENT COUPER LE JOINT EPDM POUR @ 4\15*mm
EVITER LA FILTRATION D’EAU DANS LA ,', E
CABINE

A- Coller le joint en maintenant 100 mm de
papier protecteur de chaque cote.

B- Retirer les deux pieces de papier.

C- Coller en exercant une pression sur les - S~
deux extrémités. ~~

Joint

~

—
100 mm approx. (papier protecteur)

\

Joint

Plafond cabine

/ Joint

¥y ¥
Eliminer

Joint Joint

/
/

v | &
PNES

36




INTEGRAL POWER dirna ‘@ Bergstmm@ E

4 EXTERIEUR CABINE:

Placer I'équipement Integral Power dans le
creux de I'écoutille.

5 INTERIEUR CABINE :

Visser d’environ 5 mm (4) goujons 8/125x100-
70 ou 120 dans les écrous des renforts
indiqués (*). La mesure sera choisie apres
avoir présenté les supports de fixation et
en tenant compte que les goujons doivent
ressortir de ceux-ci d’environ 20 mm par la
partie inférieure.

6 Placer (1) rondelle @ 7 en caoutchouc, (1) Rondelle plate Rondelle plate
rondelle plate @ 8 surface large, (2) écrous M8 et | Rondelle & 8 surface . @ 8 surface

(1) rondelle plate & 8 surface large dans chacun caoutchouc large Ecrou M8 large

des goujons précédents. Suivre I'ordre indiqué.

37




E INTEGRAL POWER dirna ‘@ Bergstmm@

7 Placer (2) supports de fixation avec (4)
rondelles et (4) écrous autobloquants MS,
sans serrer.

8 Visser 10 mm (4) goujons M6 x 55 ou 80, a
'endroit indiqué, selon la distance (D) du
schéma du point 11.

9 Placer (1) rondelle @6 en caoutchouc, (1)
rondelle plate @6 surface large et (1) écrou Rondelle
M6 sur chaque goujon de M6. Serrer I’écrou caoutchouc
jusqu’a ce que la rondelle en caoutchouc reste
légerement opprimée. ¢ & Rondelle
surface large

38




INTEGRAL POWER

10 Connecter les cablages de I'équipement a

ceux du panneau intérieur de distribution
d’air en faisant coincider les boitiers et les
couleurs.

dirna €2 Bergstrom

1 1 Placer le panneau intérieur de distribution d’air
dans les goujons précédents avec (1) rondelle
M6 surface large et (1) écrou M6 sur chaque
goujon. Serrer les écrous jusqu’a ce que les
canalisateurs heurtent le caoutchouc mousse
supérieur.
Important: Les canalisateurs doivent heurter
le caoutchouc mousse supérieur pour éviter
des fuites dair.

(
@ Base
EPD T i Mousse
EPDM —
: af |”rm-m-ee- A : Tt .
Plafond cabine Ecrou M6 | / ! |
1 | .
! Canalisateur 1 .
Tapisserie Goujon M6 X ! |
l | Al i=- | | Panneau !
: 1 intérieur de 1
M : distribution :
Hexagones M6 | dair !
! 1

12 Présenter la console et centrer I'équipement.
Ensuite, retirer la console.

39




E INTEGRAL POWER dirna “@ Bergstmm

13 Fixer les supports de fixation en serrant les
écrous jusqu’au serrage du joint en EPDM

extérieur (Point 4) de I'équipement entre 3 et

6mm ; le joint doit présenter une épaisseur

comprise entre 19 et 22 mm.

Important: Pour éviter de possibles filtrations

, s e s . . i Vérifier la
d’eau a l'intérieur de la cabine, il faut assurer le 272 3 : e compression
ini ; YAAL T . du joint EPDM
serrage du joint EPDM a la base de I'équipement, o dtilisant un
comme indique le schéma. flexometre dans les
quatre angles.

4 P Joint EPDM A

&

Plafond cabine
[

Serrer les écrous jusqu’au

serrage du joint en :
@ caoutchouc entre 3 et 6 mm. N

(*) (environ apres le serrage) j

14 Serrer (4) écrous M8 au support et (4) a la
base de I'équipement.

40




INTEGRAL POWER dirna ‘@ Bargstmm@ E

1 5 Connecter le capteur d’air de retour a la borne
placée dans le creux de I'entrée d’air.

1 6 Placer un écrou M6 (A) aprés I'écrou de fixation A
du panneau intérieur de distribution d’air dans Base
chaque goujon. Placer les hexagones M6 en
vissant jusqu’a ce qu’il reste 1 mm au-dessus ) Hexagone fixation partie
de la tapisserie. Dévisser les écrous M6 (A) v J frontale
.. 05 . <]
de ce point jusqu’a atteindre les hexagones et L Tapisserie
serrer contre eux. /
1 mm L—_&
approx.
\C /
([ )
Base
éT;rIStM — Mousse
8
l?/J—\:' A
Plafond Cabine Ecrou M6
Tapisserie Goujon M6
| | L
1 mm. f / Panneau intérieur de
Hexagones M6 distribution d‘air
- J

Placer la console avec (4) vis M6/100x15
17 allen.

41




E INTEGRAL POWER dirna .@ BBI’!]SII’[Im@

1 8 Attention : la sonde de recirculation devra

étre placée tel que cela est indiqué pour
lui permetire de capter la température de
l'intérieur de la cabine.

18]

S

19 Couvrir les (4) vis M6/100x15 allen avec les
enjoliveurs ronds en plastique.

42




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

TUYAUX D’ECOULEMENT

1 Monter (4) vannes dans les tuyaux
d’écoulement.

2 Fixer avec (4) anneaux de serrage et (4) vis, tel
que cela est indiqué.

3 Vérifier qu’ils n’interferent pas avec le plafond
de la cabine, pour éviter une obstruction.

43




E INTEGRAL POWER dirna ‘@ Bergstmm@

Instructions détaillées sur I'installation
du cablage d’alimentation

4 Connecter le cable d’alimentation supérieur a

la partie arriere de I'équipement et le porter par
la partie postérieure de la cabine en collant les
supports en plastique et en le fixant avec des
brides.

5 Connecter le cable d’alimentation inférieur a la

batterie, en le portant par le passage original
des cables, fixé avec des brides, vers la partie
postérieure de la cabine, pour une connexion
avec le cable d’alimentation supérieur.

44




INTEGRAL POWER dirna &3 Bergstrom

Alimentation
supérieur
cablage

ﬁ Important: Au moment de la connexion des
cablages, prévoir une distance suffisante pour
éviter des cassures a cause des mouvements

de la cabine.
6 Important: en raison de la complexité
du systéme de réglage électronique de

’équipement, la prise de courant doit étre
directement effectuée a la batterie du véhicule.

Important: Pour la mise en marche, consultez
la notice.

CONpcTAR A *
BATERIA

ConecT TO *
BATTERY

45




E INTEGRAL POWER dirna @ Bergstrom

7 Placer les adhésifs de danger dans I'union de
cablage et dans le dispositif de levage de la
cabine.

Cablage de connexion a alternateur pour fonctionnement
équipement avec moteur en marche

ﬁ Attention: le cablage sera installé dans tous
les véhicules pour que I'équipement fonctionne
avec le moteur démarré.

8 Placer le céblage d’excitation a [lintérieur
ou a l'extérieur du véhicule et monter avec
les vis taraudeuses fournies. Connecter les
interrupteurs comme cela est indiqué.

Interrupteur
vitesses air

a l'extérieur

Interrupteur A/A

a lintérieur

46




INTEGRAL POWER dirna &3 Bergstrom

9 Connecter l'autre extrémité du cablage fourni
sur la position (+) uniguement avec le moteur
démarré ou a travers (+) clé de contact.

1 0 Connecter le cable d’alimentation supérieur a
la partie arriere de I'équipement.

47




dirna @3 Bergstrom

E INTEGRAL POWER

Cablage electrique

~
)
inojal
aliWap Jnajow ap Jie,p inayde
oaAe Jyisod (+) IJ\_u . _lv 10
A A :
N
<] ﬁ <]
5 s u A ____ AZL - <mNVm_n_m3n_ e v.
APZ -5 N\ g g~ 49 [ebrue inayden
R -) L—( ) :
\A /8 | S| d < ] g — ] ] d
m-omw 7 W ( ), .
A NN NN Y
sie|oy ﬁ N
zZz|z
Q
_ W)
UV % zv m|l\_lq_w_ /ﬁr\
z |z N o
FHEAPS
1B)S0ssald N
v 3
M W
—C=5{ g
| v INasuapuod
< np Jnajejiusp
abnyujuso )
Inajynos
> e 98 O
e |
N ¥ ~[8 Logl
siejley
V05 8lqisn4 l_ qj
- +v
N N<|om ) Inassaidwoo ] Z
v
(+) o+~ o ~ Jnassaidwo)
’ ’ g /AT emeon () 3 X
(e 7y v zZy
aueyeg d d
-) ) v v
AZ) op juswadinbe 1 d
suep juswa|nas SUOIXaUUO0D
apoIp 18 JN8suspuo) )

t

VG a|qisn4

48




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

49




E INTEGRAL POWER

Empfehlungen
Zur montage

» Vor und wahrend der Montage bitte diese Anweisungen
lesen und beachten.

* Benutzen Sie fur jeden Arbeitsschritt die geeigneten
Werkzeuge.

Elektrizitat

* Zundschlussel abziehen.
» Vor Montagebeginn die Batterie abklemmen.

* Den ordnungsgemaflen Anschluss und die korrekte
Installation der Elektrokomponenten Uberprifen.

A Achtung

Sollte sich das Gerat wahrend der Montage neigen,
muss man mindestens 60 Minuten warten, nachdem
es wieder in die horizontale Lage gebracht wurde,
um es wieder einzuschalten.

A Achtung

Wird die Klimaanlage im Kabinendach installiert, muss
der obere Teil der Kabine mit einem Tuch oder einer
Decke gegen eventuelle Kratzer geschitzt werden.
Bei der Installation der Integral Power auf dem
Kabinendach muss darauf geachtet werden, dass mit
Luken ausgestattete Kabinen Uber eine ausreichend
stabile Struktur verfigen, um das Gewicht des Gerats
Stand zu halten. Sollte das Fahrzeug tber keine Luke
verfugen und sollte es notwendig sein, das Kabinendach
aufzuschneiden, bzw. sollte die vorhandene Struktur
nicht ausreichend stabil sein (z.B. wenn sie aus Faser,
Kunststoff usw. hergestellt ist), obliegt es dem Installateur
zu entscheiden, ob das Kabinendach zur Vermeidung von
Verformungen, Briichen, undichten Stellen usw. verstarkt
werden muss, und die hierflr notwendigen Mittel bereit
zu stellen.

Bei
entsprechenden VorsichtsmaBRnahmen treffen und

Kabinen mit hohem Kunststoffdach des

das Gerat nur auf den Rippen der Kabine lagern, um
das Einsacken des Faserteils zu vermeiden.

50

dirna @3 Bergstrom

Werkzeuge

Zugehorige Dokumentation

Montageanweisungen 1001867298
Benutzerle |tfaden .............................................. 1 001869501 ......... -
Feh|e rd|agnose .................................................. 1 001869522 ......... -
Ersatzte|ll|ste ....................................................... 1 001867300 ......... -

Enthaltene Dokumentation

Kurzfuhrer 1001069437
LGENE e ZEOAATOOTT
I
A Fragile
Attention aux coupures !

A Risque électrique
A Warnhinweise

A DerlnstallateurmussimBereich Fahrzeug-Klimaanlagen
ausreichend geschult sein.

A dirna Bergstrom Ubemimmt keine Verantwortung fir
SchadenoderBriiche aufgrund einernichtordnungsgemalien
Installation oder Bedienung des Gerats oder den Austausch
von Teilen bzw. Umbauten, die ohne die erforderliche
schriftiche Genehmigung durchgefiihrt wurden.

A Mit Kaltemittel vorgefiilltes Gerat.
(Kaltemittelkreislauf nicht manipulieren).

ASiehe Garantieverfahren des Produkts in der
Fehlerdiagnose.

A Siehe Benutzerleitfaden des Gerats fir den
ordnungsgemafien Betrieb der Fernbedienung und des
Bedienfelds.

A DiefolgendenUnterlagenmiissendemBenutzernachder
Installation ausgehandigt werden: Benutzerleitfaden,
Garantie und Fehlerdiagnose.

A Achtung! Anlagengewicht 52 kg




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

1 Lukendeckel und dessen
Befestigungselemente ausbauen und diese
dem Kunden aushandigen (*).

2 Vor dem Ankleben der EPDM-Dichtung an der
Decke klebende Reste entfernen.

51




E INTEGRAL POWER dirna ‘@ Bergstmm

3 Die EPDM-Dichtung um die Lukenaussparung
herum kleben (siehe Detailzeichnung
flr das Zurechtschneiden der &ulReren

Verbindungsréander).
- —
ﬁ ZURECHTSCHNEIDEN DER @ ,,@mm
EPDM-DICHTUNG ZUR VERMEIDUNG ," [
DES EINDRINGENS VON WASSER IN DIE
KABINE

A- Dichtung ankleben, dabei auf jeder Seite
100 mm Schutzpapier stehen lassen.

B- Die zwei Papierstlicke entfernen. -

C- Beide Enden durch Andriicken ankleben. ~~

Dichtung

~

—h
ca. 100 mm (Schutzpapier)

\

Dichtung

Kabinendecke

/ Dichtung

¥y ¥
Entfernen

©

Dichtung Dichtung
N v ¥
N » | «

52




INTEGRAL POWER dirna ‘@ Bergstmm@ E

4 AUSSENSEITE KABINE:

Integral Power in der Lukenaussparung
positionieren.

KABINENINNENSEITE: @ _______
Grundplatt
O | W) Sstitschrauben  8/125x10070  bzw. undplatte "3 5 mm
Stiftschraube

120 ca. 5 mm tief in die Windungen der
angegebenen Verstarkungen (*) schrauben.
Das Mal wird gewahlt, nachdem die
Befestigungshalterungen aufgelegt worden
sind und unter BerUcksichtigung der Tatsache,
dass die Stiftschrauben aus diesen auf der
Unterseite etwa 20 mm herausstehen mussen.

6 An jeder Stiftschraube 1) Breitflansch- Breitflansch-
Gummiunterlegscheibe @ 7, (1) Breitflansch- [Summiunter- Flachscheibe Flachscheibe
legscheibe g8 Mutter M8 a8

Flachscheibe @ 8, (2) Muttern M8 und
(1) Breitflansch-Flachscheibe @ 8 in der
angegebenen Reihenfolge anbringen.

53




E INTEGRAL POWER dirna ‘@ Bergstmm@

7 (2)  Befestigungshalterungen mit  (4)
Unterlegscheibe und (4) selbstsichernder
Mutter M8 anbringen, ohne diese
festzuziehen.

8 10 mm (4) Stiftschrauben M6 x 55 6 80 an den
angegeben Stellen je nach Abstand (D) des
Schemas in Punkt 11 eindrehen.

9 (1) Gummiunterlegscheibe a6, (1)

Breitflansch-Flachscheibe @6 und (1)
Mutter M6 auf jede Stiftschraube M6 legen.
Mutter anziehen, danach Mutter anziehen,
bis die Gummiunterlegscheibe ein wenig
zusammengedruckt wird.

Gummiunterlegscheibe

Breitflansch-
Unterlegscheibe

54




INTEGRAL POWER

10

Kabel des Gerats an die der inneren
Luftverteilertafel anschlieen, wobei Kasten
und Farben Ubereinstimmen muissen.

dirna & Bergstrom 3

11

Innere Luftverteilertafel an den vorgenannten
Stiftschrauben mit jeweils (1) Breitflansch-
Unterlegscheibe M6 und (1) Mutter M6
anbringen. Muttern anziehen, bis die
Flihrungen an den oberen Schaumstoff
anstolRen.

Wichtiger Hinweis: Die Flihrungen mussen
gegen den oberen Schaumstoff anstoRen, um
das Entweichen von Luft zu verhindern.

(
@ Grundplatte
-S
EPDM- Schaumgummi
—]
Dichtung e
N I R —— ST } Tt TT b
Kabinendecke Mutter M6 1 / 1 i
1 1 1
1 Kabelflihrun 1 1
Verkleidung Stiftschraube M6 1 g 1 1
v 1 1 1
| | Al ¥ - 1 ' Innere 1
1 mm. f / ! | Luftverteilertafel |
1 1
Sechskantschrauben M6 1 1
1 1

12

Konsole auflegen und das Gerat zentrieren.
Nach dem Zentrieren Konsole entfernen.

95




E INTEGRAL POWER

13

Die Befestigungshalterungen durch Anziehen
der Muttern befestigen, bis der Anzug der

aulReren EPDM-Dichtung (Punkt 4) des Gerats
zwischen 3 und 6mm liegt; die Dichtung muss
noch 19 bis 22 mm dick sein.

Wichtiger Hinweis: Um evt. Eindringen von
Wasser in das Kabineninnere zu vermeiden,
muss sichergestellt sein, dass die EPDM-
Dichtung wie im Schema angegeben fest auf der
Gerategrundplatte aufliegt.

EPDM-Dichtung A

Kabinendecke

o

N

Muttern anziehen, bis die
Gummidichtung zwischen
3 und 6 mm

zusammengedrickt ist.

dirna @3 Bergstrom

Die Komprimierung §
der EPDM-Dichtung §
an allen vier Ecken
mit einem Bandmal}
prifen.

14

(4) Muttern M8 an der Halterung und (4) an
der Gerategrundplatte anziehen.

56




INTEGRAL POWER

15

Abluftsensor an der am  Lufteinlass
angebrachten Klemme anschlie3en.

dirna & Bergstrom 3

16

EineMutterM6(A)hinterderBefestigungsmutter
der inneren Luftverteilertafel an allen
Stiftschrauben anbringen. Sechskant-
Verbindungsmuttern M6 eindrehen, bis sie 1
mm Uber dem Bezug herausstehen. Muttern
M6 (A) dieses Punkts herausschrauben, bis
sie an den Sechskant-Verbindungsmuttern
anstof3en, und gegen diese anziehen.

Grundplatte

e € (A) Hexagonalschraube
J Befestigung Frontteil

&

Verkleidung

Catl  —

mm
‘@ - J
( )
Grundplatte
EPDM- Schaumgummi
Dichtung —
g
A
Kabinendecke Mutter M6
Verkleidung Stiftschraube M6
/

|_v_
1 mm. f

Sechskantschrauben M6

Innere
Luftverteilertafel

17

Konsole anhand von (4)
Innensechskantschrauben M6/100x15
anbringen.

Y




E INTEGRAL POWER dirna .@ BBI’!]SII’[Im@

1 8 Achtung: Die Ruickfuhrsonde muss wie
angegeben angebracht sein, damit die
Kabineninnentemperatur gemessen wird.

18]

S

19 Die (4) Innensechskantschrauben M6/100x15
mit den runden Kunststoff-Zierkappen
abdecken.

58




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

ENTWASSERUNGSROHRE

1 (4) Ventile in die Entwasserungsrohre
einbauen.

2 Mit (4) Rohrschellen und (4) Schrauben wie
gezeigt befestigen.

3 Sicherstellen, dass sie am Kabinendach genug
Platz haben und nicht verstopfen kdnnen.

59




E INTEGRAL POWER dirna ‘@ Bergstmm@

Detaillierte Anleitung fir die Installation der Netzkabel

4 Das obere Netzkabel an der Geratehinterseite

anschlielen und an der Kabinenrlckseite
unter Ankleben der Kunststoffhalterungen und
Befestigung durch Kabelbinder entlang fiihren.

5 Das untere Netzkabel an der Batterie

anschliel3en, entlang der Original-Kabelflihrung
fihren, mit Kabelbindern befestigen, zur
Kabinenhinterseite fihren und dort an das obere
Netzkabel anschlieRen.

60




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

Oberes
Netzkabel

A Wichtiger hinweis: Beim anschliessen der

kabel zum vermeiden von schaden durch die
kabinenbewegungen ausreichend spielraum
lassen.

6 Wichtiger hinweis: Aufgrund der

komplizierten elektronischen Steuerung des
Gerats muss die Stromversorgung direkt an
der Fahrzeugbatterie erfolgen.

Wichtiger hinweis: Flr die Inbetriebnahme
sehen Sie bitte im Benutzerhandbuch nach.

CONgcTAR A *
BATERIA

ConecT 1O *
BATTERY

61




E INTEGRAL POWER dirna @ Bergstrom

7 Gefahrenhinweise an Kabelverbindung und
Kabinenhebevorrichtung anbringen.

Alternatoranschlussverkabelung fir den Betrieb des Gerats
bei laufendem Motor

ﬁ Achtung: Die Kabel in allen Fahrzeugen
installieren, damit das Gerat bei laufendem
Motor funktioniert.

8 Erregerkabel von innen oder aulen her
verlegen und Front mit den mitgelieferten
Blechschrauben befestigen. Schalter wie
gezeigt anschlieBe n.

Schalter
uftgeschwindigkeiten

von aufden

A/C-Schalter

von innen

62




INTEGRAL POWER dirna .@ Bﬂrgstmm@ E

9 Das andere Ende des mitgelieferten Kabels
in Position (+) nur bei laufendem Motor oder
uber (+) Kontaktschlissel anschlieRen.

Oberes Stromkabel an der Hinterseite des
10 : .
Gerats anschlieRen.

63




dirna @3 Bergstrom

E INTEGRAL POWER

ElektrischeVerkabelung

> m_ Bunianaisyiuope|3
10JO|\ Wepuajne| . T Josussyn|qy
1oq Apsod (+)
«(+) AP D
A A &, N
~
s D) A ____ Agh - <vaOcEmco_w V 8 v.
98 - - AT - WSl R < g ; . 8 J8|YynZINYos}sol 4
\A 8| fog]” 4 < y - - d d d
Cig 7 W ~ N
A N . NN W/
slejgy ﬁ N
zZz|z
Q
_ W)
Y N Zv m||@ ) /ﬁr\
z |z N o
o |=|»
JsyoemyonIQq N
v 3
=l W
—C=5{
S| Jaynjiojesuspuoy
=z
ase|qablebnyiyuaz
> RS AR
e | -
NP S| L8 0¢ Bl
siejey
v0g Bunieyols v
n_ o Etz\ﬂ | -
+) ot (=D |NpowLIaIYDIpIaA . N Jossaidwoyy
; _ LIS +) g ’
(-)e 7y v zZy
slspeg d d
) ® 7 v
USIBIRD-AZL 19 INU 1 g

dpoIQg pun I0JesuspuUOy  njuszyeyos

VS Buniayoig

64




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

65




E INTEGRAL POWER dirna ‘@ Bergstmm@

66




INTEGRAL POWER dirna ‘@ Bﬂrgstmm@ E

67




. A

Ed: | 23/04/2018
Md: | 27/08/2019

dirna @2 Bergstrom <]

Francisco Alonso, 6
28806 Alcala de Henares, Madrid
SPAIN

Contact Phone Fax E-Mail

(S\Zifas Internacional) +34 91 8770510 +34 91 8771158  sales@dirna.bergstrominc.com

Comercial Nacional +34 91 8775841 +34 91 8836321  ventas@dirna.bergstrominc.com

Orders & Deliveries

(Logfstica internacional) +34 91 8775846 +34 91 8771158  export@dirna.bergstrominc.com

Orders & Deliveries

s . +34 91 8775840 +34 91 8836321  comercial@dirna.bergstrominc.com
(Logistica nacional)

Technical Assistance

. +49 511 86679681 +49 511 86679710 technicalassistance@dirna.bergstrominc.com
(Internacional)

Technical Assistance

. +34 91 8775845 +34 91 883 6321  oblanco@dirna.bergstrominc.com
(Nacional)

www.dirna.com

i Dirna Bergstrom se reserva el derecho de efectuar modificaciones en cualquier momento de los datos
ATENCION: - e L .
contenidos en esta publicacién, por razones técnicas o comerciales.
NOTE: For technical and commercial reasons, Dirna Bergstrom reserves the right to change the data contained
. in this brochure.
. Dirna Bergstrom se réserve le droit d’effectuer a tout moment des modifications des données reprises
| ATTENTION: o ; - .
Y sur cette publication, pour des raisons techniques ou commerciales.
. Dirna Bergstrom behélt sich vor, aus technischen oder kaufménnischen Griinden jederzeit Anderungen
HIVVEIS: " " "
der Angaben dieser Verdffentlichung vorzunehmen.
i Dirna Bergstrom si riserva il diritto di effettuare modifiche in qualsiasi momento ai dati contenuti in questa
ATTENZIONE: s . . o
pubblicazione, per motivi tecnici o commerciali.




